NT5034 1621504

2019(0dd)

Time : 3Hrs. Sem -V - Ec
Power Elect.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Draw the circuit diagram of a series inverter and (ii)

11.

indicate the need for an optimum time margin.

Also, Write the merits and demerits of this inverter.
6

TP Aol 39aSR &1 uRuy IR Eid den

IqHead Y ARSI &) TaIHAT DI

QU | 9 $91dc} @I BIf--A1 T a9l $I

H ford |

OR (3121dT) (iii)

What are the advantages and disadvantages of

unidirectional as well as bidirectional controllers? (i)
111

Which one of these is preferred and why?

Udha—faen qen fgfesm fRiges @ s-—a4

oy dar g1l € ? 599 9 feael siftre

gdg fear sirar @ an e (i)

Write Notes on :

(1) Two quadrant chopper

(1) Series and parallel operation of SCR
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vfdd TerdrR JrSeye d ged:
qRTIE &1 SUAT gt @
@) giftrer &) afe i g @ g9m

eq

@) 9w A9 e TG

(@) dieed dg =Y

(?) gifier & sAfA® Jseyce
gfRig @ e 9R sfisSE &1
fra &4 =9

Cross-over distortion occurs in
(a) Class A amplifier

(b) Class B amplifier

(c) Class C amplifier

(d) Push-pull amplifier

HII—3MAR fa®wgeT yram Srar 2:
(31) TN -A B RR #
(d) ™ -B UfTBRR ®
(d) TN -C UfFemrRR §
(]) yu—Yo YRR §

Class AB operation is often used in power
amplifier in order to

(a) Get maximum efficiency

(b) Remove even harmonics

(c) Overcome cross-over distortion

(d) Reduce collector distortion
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faftr=1 yoR & wfed ek &1 arffexer
B | T—A oo TR &t
g1dc 9T ®r bl qui- B |

OR(3721d1)

Discuss the importance of di/dt rating during the
turn on process of a thyristor.

TP AR & -39 fafsr & IR divdt
ST © dg<a o1 9ol B |

What is cross over distortion ? How it can be
minimised ?

HIA—AMTR fIeUor |1 8?7 SHB! A HH
fobar < gedr 2?2

OR(3721d)

Explain the need of commutation in thyristor
circuits. What are the different methods of

commutation schemes? Discuss any one.

NT5034

(vi)

(vii)

(vii)

(viii)
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arIRr & forg, yow feRT & forg

o o feRa  afrar < wireht 2,

Faife

(@) Wic feRmem = g

(d) v ugfa Axe BT

(|) e el &) oexd 9gd B4
afer & ferg &=

(2) SwIqad g+

A TRAIC can be triggered ON by

(a) +Ve or -Ve Voltage at gate

(b) +Ve or -Ve Voltage at either anode
(c) Only +Ve Voltage at either anode
(d) Both (a) and (b)

Uh cIb &l feTR A9 foar wrar 2:

(31) I dAT FEUMTHS dleed T
TR TP

(d) gTHS AT FUMTHS dlecol fH)
ff ¥l W THx

() dad g9THS dieeo fodl
UIE WX SHY

(%) <=1 (1) doar (9)

For construsting a relaxation oscillator
(a) Zener diode is used

(b) CRO is used

(c) UJT is used

(d) DIAC is used
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[-V 3rfiereror &) HerIdr 9 Ush ATIRReR @
faftr=1 wis @ darad @ ARAT B |

OR (3121a1)

What are the necessary conditions for turning-on
of an SCR?

TP THo Hlo IR0 & eff1—3ii= 89 & foru
ATITTD Id HIFT—DIT & ?

Describe the principle of step-up chopper.

TI—IY R & RIgrd &1 aoi= oY |

OR (312f1an)

Explain the working of parallel inverter.

TR $TdexX © DIl &) AT DY |
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x)

(xi)

(xi)

(xii)
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U il [[elex aAT Ured [elex &

9= g s @

(@1 a1 B 7T ) a9t ddrfera
BIdT

(@) fra=vr @ a1 Reafa

(3) dvaa gRUT &1 UHKR

(?) Ffe feeaer &1 UaR

What are the advantages of switching power
supplies over linear power supplies?

(a) The devices operate in linear/active region
(b) The devices operate as switches

(c) Power losses are less

(d) (b) and (c) both

as ufdd g d gaqar d « i

TIfed TS BT R dTH 27

(31) gfea sl w=ar @ Nad /\fba
aa

@) gfaea g &1 avg s sar 2@

(@) wfda =t & ghar @

(%) @) a1 (W) <rAr

TRIAC cannot be used in
(a) AC voltage regulator

(b) Cycloconverters

(c) Solid state type of switch
(d) Inverter

P.T.O



O'Ld

1% "SO1SLIdJOBIRYD A-] JO d[oy yim I0ISLIAY)

© Jo uone1ddo Jo SOpow JUSIdPIP Y} QLIS

S
1o |obhik klabh 2hisE ¢ ARIGPRJY dd

1913091

© Jo s1jowered douewrorad ndur oy djerownuyg
(Ipreie)dO

i2 DBBB IRP

B Dihfie die 202 ®R3IZ @ 0 0k Ok
14

& LI B JO ONel Jo pue)s SIsuLnul st jey

| 2 1RD bip
® ARIhIdN 22PRd Lhld IleD k) bLhld

1oy dury 103991109

UOWIWO) PUE JOPIW UOWWOD UddMmIdq aredwo))

(lprR)IO

YOSTT91 €1 PEOSLN

dAne3au
sAeme d1e 938)[0A PBO[ puk JUdLIND peoT (P)
oAne3au 10 dAnIsod 9q ued Judarmd peo (9)
dAne3au sAemie s1 juaund peoJ (q)

aanisod
sAem[e d1e 938)[0A PRO[ PUB JULIND PrOT ()
syueipenb pug pue is|
oY) ur SUIOM IOJIQAUOD JueIpenb OM) B U]

1akds 08T 5081 (2)
Hakds o0 50 (R)
1akd 0°5081 (k)
1akds 081 50 (k)

FITNERNT
Ah lal® kbl npa1p phonle kbRl
Ikb 19221p 2hoslle kd ‘b ARIGDPJY

08| DE|RE] LAD—|oh 1R® Rdh

A1oA100dsay 4081 “5081 (P)
K10A1300dsY o0 ‘60 (9)
A1oA109dsay ,0°,081(q)

A10A1100ds9Y 081 “,0 (B)
{,S9[3ue UONONPUOD YIIyM

Je paure}qo are d3e)0A ndino wnwixew
pue 93e3j0A INd)NO WNWIUIW TOYI}OAT
93pLIq pa[[oHu0d dAeM-[[n} dseyd-o[3urs e uy

2pbbi ()

Blp 222 SRR (B)
2pbbkd |PhEIR (b)
2Ry 19p21b O 01 (k)

g
Ibls 1R®] |2k kklRhD 1d GRS kb leth]

PEOSLN 8

(Arx)

(1rrx)

(%)

(%)

P0SIT91



1621504 12 NT5034

(xx) dieco UEHRR #, AR yfa”ig gidar
2
(@) aiftre A afr®
@) 9 q B
(|) J<8eye suSH & SRR
(]) 31Yc sfuSH & TRI&v

GROUPB

Answer all Five Questions.

. 4 =2
gl uig g3l & SN T | X520

2. Explain an over load protection in a regulated
power supply.

J[dcs wfaa amgfd A &1fdre W |4 e
B AT BN |
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31 qareNT (Ag¥el) ®ac, Ist a2 2nd

Farede (Agaol) # &l dar @ foad

(31) IR ORT TAT AR dlecol AT
eI Bial @

(@) R oRT AT FKMTHSD BT &

(W) YR &RT 9-IICH® AT FVTIcHSD BT

(]) YR oIRT 9AT MR dicesl AT
FOMTHS BIdT 2 |

In a three phase full-wave ac to dc converter,
the ratio of output ripple frequency to the
supply voltage frequency is

(a) 2

(b)3

(c) 6

(d) 12

U$ et gui—azar vo o | Sio o
®Iac A, 3Seye Rud gy den
amgfd arecw gy &1 rgurd grar @
(1) 2

(|) 3

(W) 6

(®) 12

A power chopper converts
(a) ac to dc
(b)dc todc
(¢c)dc to ac
(d) ac to ac
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